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Calculators are NOT permitted.

Instructions:

1. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE
TOLD TO DO SO.

2. Write your name and registration number on the cover of this
question booklet.

3. If the information printed on your answer sheet is not correct, please
inform the invigilator immediately.

4. Please use a pencil and write your answers neatly ONLY on the
answer sheet provided. DO NOT write or draw in the circle next to
each answer box. No mark will be given if you failed to follow this
instruction.

5. Unless otherwise specified, all answers must be in exact value and in
its simplest form. Writing the units for the answers is NOT necessary.

6. Rough-work sheets provided will be collected at the end of the contest
but they will not be marked.

7. Diagrams in this question booklet are not necessarily drawn to scale.
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1)  Solve X=35_ 6.6. [3%]
x—35
=6.6 °
i :
2) Findg. [3.1%]
Kaq-
3)  Simplify (a*)(-a). [3.2%]

B (@) -
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4)  Expand (—4x + 5y)% [3.3%]

JERE (Ax +5p)%

5) In the figure, AABC and AXYZ are similar. Find a + y. [3.4%]
& - AABC M AXYZ StHEL=FA - Ka+y-

A

X
18 24 12 Y
Y o 4
B C
a

= 1)

6) Solve | XT8Y=22 [3.5%]
5x+6y =14

{7x+8y =22

5x+6y =14
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7)  In the figure, AB =AC and CB = CD. Find x. [3.6%]

B > AB=AC ;2 CB=CD - K x °

8) If'the size of each interior angle of a regular octagon is n°, find the value of #. [3.7%]

eI/ BTERIREA A Ry n® > K n HYME

0
9) If1=E=—,ﬁndtheratiox:y:z. [4.8%]
X y 4z
1 2 3 .
WHR ====—>Kx:y:z-
X y 4z
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10) John buys 5Skg of pork and 6 kg of beef at $101.70. Mary buys 9 kg of pork and 4 kg of [4.9%]
beef at $106.90. Find the cost of 1 kg of pork.

/N 1017 TEELT 5 AAFFREPIR 6 ATARR » N 1069 TEEL T 9 AATTRE TR
NI SR ENIY L= 2

3 7(x-2) [5.1%]

11) Simplif — .
) Py 2x—1 2x*-9x+4

3 7(x-2)
2x—1 2x*-9x+4

(i

2X X+3 520/
12) simplity 4G [5.2%]

25x—8

- (42X)(8X+3) .
25x—8

Wi
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13) Nis a 4-digit number which is divisible by 9. If all the digits of N are distinct and none [6.3%]
of the digits is 9, find the largest possible value of N.

N B —(EF] LAY 9 BERRAPIAI R - E50 N SHEA VB E# E A AEIE - 1 H A EED
29 K NHIEAAIREE

14) Find the valueof 1 -3 +5-7+9— 11+ ... —2019 +2021. [6.4%]

K1-3+5-7+9—11+...—2019+2021 HJ{g -

15) Find the smallest positive integer n such that n + 41 is a square number while 20#x is a [6.5%]

cubic number.

KEVNIEEEE n o> (15 0+ 41 B FI78 1f 20n ZIL5EL -
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16) Given that # is a positive integer and 17905 = 28741 (mod #). Find the sum of all [6.6%]

possible values of n.

EHln Ry 5% > H 17905 = 28741 (mod n) » SKFTA n HYRJREELZA -

. > [6.7%]
17) Find the value of \/\/1+ (2021° +12136) x 2023x 2025 .
K \/\/1+ (2021% +12136) x 2023x 2025 HY{H °
18) There are 8§ players in a sports team and one of them is the captain. It is known that A is [6.8%]

the first one to be the captain while H is the last one. If each player could be the captain

at most once, how many way(s) is/are there to change the captain?

—EREA 8 A H— NaEERE - EX A B —EBE » 1T H2&E—(E
[Ff - MRFAKERS R AEEBRR R > HESVENERRTTE?
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19) If o and B are the roots of x2 — 5x — 4 = 0, find the value of a* + 1658 + 33. [6.9%]

a1 BRI R x* —5x—4=0HYR » K o* + 1658 + 33 {Y{H -

20) In the figure, ABCD is a parallelogram. If AB = 50, AC =38 and BD = 66, find AD. [7%]

[Eth » ABCD E-5F47VUET - 415 AB=50 » AC=38 & BD=66 > 3k AD -

End of Paper
BET
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